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OPTION-A
Paper : COM-GE- 5016
( Principles of Microeconomics)

1. (A) Answer the following: 1x5=5
e AR T ¢

(i) Define market price.
TER 71 TR |

(i) What is marginal revenue ?

aifes <eE W e
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(B)

(iii) Draw AR curve of an individual
firm under perfect competition.
sy SIS TR G Trgisi
AfSPing AR (FITIE S 941 |

(iv) Define monopoly market.

G Ha ITN 9T A Tl |

(v) Mention one important feature of
oligopoly market.
ifeelsifer TETT by ewesy iRy T
|
Answer the following as directed :
1x5=5
R oeTe R Tes ol ¢
() Under perfect competition,
AR = MR. (Write True or False)
F=jef afScaifielyeEe TE<e AR = MR |
(9% 7 &% [&9))
(i) name is associated with
Engel’s law in economics.

(Fill in the blank)
wefAifee rege O% e it
e 2 =i (3T 12 73 F9)

(iti) Cartel is a type of oligopoly-

(Fill in the blank)

G wifeisl #Ie 9ol i |
(T 12 o7 #91)
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(iv) Price discrimination is possible
only under monopolistic
competition. (Write True or False)
we frreniesd aFWE @IS
AfeEForETS e T |

(9% 7 q&% [o3)

(v) TC (Total cost) = + )

(Fill in the blanks)

.
(0T A2 %7 7))

TC (5 T9) =

2. Answer the following in brief : (within 35

words) 2x5=10

e faiEEE 53 Ted Fl ¢ (0al) 19 fowTe)

(@) Define cross elasticity of demand.
it e fEfegrieer @l o

(b) What is marginal rate of technical
substitution ?

TR dfowsm AR a9 e & e
(c What do you mean by economies of
scale ? '

sl sl e & g
(d) Mention two differences between

monopoly and monopolistic
competition.

T wis: G eforaiTenETs Fuiee
ere 75! oL T 4 | )
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(e) What is price discrimination ?

wg Rrerie=d 9w &2

Answer any four from the following :
5x4=20
SRRl Rigwza 5if<617 Tes Bl e

(@) Show the relationship between AR and
MR under conditions of monopoly
market.

G IETS AR SII% MR (@2 SIS 794
(3.l |

(b) What do you mean by economic region
of production ?

el SefAfes Fa e & 3@l

- () What are the basic properties of
indifference curve ?

e @i e TR & &
(d) Give a brief note on the concept of
expansion path of production.
Teowas ARHITO 9129 @#17% i GICi fovalt |
(e} Distinguish between social and private
costs of production.
Teoiras ARG 57 9= Pieore Gs A
ML o T |
() Mention the important features of
oligopoly market.

Sferalwife qeieR wsagee iREmRR v 9|
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Explain how consumer can achieve his
equilibrium position with the help of
indifference curve analysis. 10

A% (R TTC GT NS @R FeR Sy
g Se FRA AIE, T 9 |
Or /<)

What do you mean by elasticity of demand ?
Explain various types of price elasticity of
demand. 4+6=10

sifene Fifegiveel Ifee & gy vifms ww
fefoRiver [Rfen evemz i |

Discuss the revealed preference theory.

10
e THETR ©ECo! SCETsA T |
Or /994!
Explain the returns to scale theory of
production. 10

Teoee afew el [ iR =1 |

Explain how short-run and long-run price
and output are determined under monopoly

market. S5+5=10

ST I@TS TIFTE R TSR AT
(@S T SR T AR =3, apeg =y
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Or /94t

Make a comparative analysis between perfect
competition and monopolistic competitive
market. 10

i eferifienEs R @i e
G A GBI ToIGT SNCEABH SCHI |

Discuss the kinked demand model of

oligopoly market. 10
wiisTorfeT T@RE @ohT GifEAN Ol sl 9
Or /9t

What is collusive oligopoly ? How are price
and output determined under prl_Ceo"
leadership model ? Explain. 2+8=1

Rt qoifem Rl caat wifersr=ifer 1 FCESl
TR 2 G ToS we (el TE(HS Ve SR G
R e 70 ze gl <4
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OPTION-B
Paper : COM-GE- 5026
(Business Economics )
Answer the following as directed :
1x10=10
{a) Define production function.
Terlve e e il |
(b) Define cross elasticity of demand.
vifeve fods Efogiemer wge W)

(c) is the root cause of all economic
problems. (Fill in the blank)

25 | SO TR T iR |
(371 312 27 =)

(d) Show the shape of isoquant in the case
of perfectly substitute factors.

Topel eifoTs TAMAR CRae ARSI @iy
OIS (P T, (ST |

(e) What is sunk cost ?
e H e

(il Define opportunity cost.
A ES @ |

(g) Draw a short-run average fixed cost
curve.

TR M 28 T @9 qum v <
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(h)

0)

In which type of market, selling cost
exists ?

@ 4OF qERe [RE! T ACE?

Rent is a surplus.
(Fill in the blank)
e e ©gel
(=T 312 77 )

What is real wage ?

e TR M &5

Answer the following questions :

2x5=10

wore fEl e Tl T ¢

(@)

(b)

(c)

(d)

What is meant by expansion path ?
FeeRe 7Y e & ga?

Distinguish between accounting cost
and economic cost.

Fapiel 27T I SEATeT < e A1y el |
Show the relationship between average
cost {AC) and marginal cost (MC).

57T A W A IS TS (@Yed !

Write two distinctions between market
price and normal price.

TR IS TR WIS 71 WieR 757 (@ Fdl
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(e) Mention two characteristics of oligopoly

7 [ror @i 7h ey B

Answer any four of the following questions

o Te [l feicar 5ifast e ey o o

() Explain how ‘scarcity’ leads to economic

(b)

(c)

(d)

(e)

5x4=20

problems.
wepeIE ot wiLtAfeT T
SISl T

Explgin the determinants of price
elasticity of demand.

bifens 7 Rfegivmen ez F oy

What i§ an isoquant ? Explain the
properties of an isoquant

TICATH (@21 2 T @2 T

TR F[= | TR
Why is the long-ru
Ushaped 2 o8e COSt curve

TS o8 I @eoE By U wigfer =0

State the characteristics of mon
competition.

G REaE feraifrerpRs ‘
Mention the factors that Wwﬁl
real wages of laboyr.

MR TS TGR Neffrojans
TR T Sy

opolistic

determine the
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4. Answer the following questions :

10%x4=40

weTe 7l epsTes el il ¢

(@)

(b)

What is demand forecasting ? Critically
discuss various methods of demand

forecasting. 2+8=10

i Ao /e vt sfore [ fen

AR TGS SCEAGA SCE |
Or / g2«

What are returns to scale ? Explain
various types of returns to scale with

suitable diagrams. 2+8=10

AR dfone &2 Tedim @ [fen el
sfenirrz Toe foas ARTe Il |
What is firm’s (producer’s) equilibrium ?

Explain the equilibrium of a firm with

the help of marginal revenue and
marginal cost approach. 2+8=10
AT (SemreiRia) SRSl fB? 2iee
I < 2 T el FRET v <
SIS Fier SR A T4 |
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(c)

Or / §2q!

What is least cost combination of
inputs? Discuss how least cost
combination of inputs is attained with
the help of isoquants and isocost lines.
2+8=10
AN O T A0 2 TSty
(R AR A (AT TYTS [t oy
JIA™AT TR e© IV L, S| 7517 |

Explain the short-run equilibrium of g
firm and the industry in a perfectly
competitive market. 10
17 e SrIOET TGS @2 ARSI . 5y
TR ZFPER SRArS] 9 9 |

Or / 924t

What is price discrimination ? Mention
two conditions of price discrimination
Explain how equilibrium price anci
OT_ltp'ut. are determined by
dlscrlmlnating monopolist. 14947 10

7 Rt &2 m Rrefiemag ry e
ﬁm'ﬁ@“ﬁﬁEﬁFFSﬂaaﬁkna;pgggiiziéi

SR 19 i< JNss W%Wﬁﬁ P
7l | T I, Jeiy

a
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(d) Critically discuss the marginal
productivity theory of distribution.

10
fAoweT aifes TeAmTTIeTel TGt FTITEEATE
D <51 |

“Or/92<t
Critically discuss the uncertainty
bearing theory of profit. 10
FNST =5l T2 TGB! FAANNCEAEITR SNCETG=T
Bl
12 6000
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